GREEN GARDEN MATRIC. HR. SEC. SCHOOL

No. of Printed Pages : 15 Perundurai R.S.
PH: 9486379461, 8344933377

T R

. PART - III
senflsio / MATHEMATICS

( SWID WHMID ag,@aﬁ]eu eulfl / Tamil & English Version)

&TQ Siatay : 3.00 waxfl GCHrL | [ Qurgg wELbuamTEseT : 90
Time Allowed : 3.00 Hours | [Maximum Marks : 90
SiMleyemrasT : (1) I@;mmgg dlamsaEpnd sflwurst uferd o drersr aaTugmaé
- #flurrggs Qsrarareybd. JFaLudalle Gopuimulber, DS
samsTaniiureTiiLid o L anguiras Qsfalssea)b.

2) Beob odeg smUY ovldoa LIHCWL agMSHED,
S &CamgHaugH@Gh LwearuBhds Couam®Hb. ULmSE wudrasn@E
Guendled LweTU(HSSa L.

Instructi;ms : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

L@ - 1/ PART - 1
GOy : (i) Swengg alamss@nsEn elomwualsseb. 20x1=20
(i) QsrBésuu@earer wrHn elleLseid Wlsayw ghymLw elormws
Cambshdss @MUILGLer ellanulemamuyd Cardg erpseayb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
. and write the option code and the corresponding answer.

[ Hmlys / Turn over


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XI - MAY 2022


Xl - MAY 2022 2

|2.:\_' -3

= . 3 ,
Iy A STELg)

% -
2‘ - f(x)

(<o1) auensuli_ o dag (e9),) Q@i radluinestg

(@) ugelwwopmg () Qam_radlpmgl

3 2x - 3|
At x = = the function f(x)= =20 5.

3 J(x) Tx 7 8
(a) differentiable (b)  continuous
(¢) mnon-zero (d) discontinuous

A, B ereruar n auflenswjenar s10s8i sianflser. @i (A2B) erafled

() A+B eraiug @ epenaalll L syanfl
(<) A+B iagl @ ardli g0séi ojanf]
(8) A+B aatug @ ynsu el

(FF) A+B erenug) @ F&8T Syenf]

If A and B are symmetric matrices of order n, where (A#B), then :

(a) A+B is a diagonal matrix
(b) A+B is skew-symmetric
(c) A+B is a zero matrix

(d) A+B is symmetric

{xz + 5x + ST.

2 X
. x“+5x+3]| .
lim T 18
x—=o \ x“ +x+3

(a) €% (b) e (c) 1

(d) e?
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4. log; 512 - WGl :
(o) o ()16 @) 12 ") 18

The value of log ;5 512 is

(&) 9 (b) 16 (c) 12 (d) 18
5. y=f¥+2) wom f'(3)=5 aafléd, x=1-& g% e
(=) 15 ()5 (@) 10 (F) 25

d
If y=fx2+2) and f'(3)=5 then, a% at x=1 is :

@ 15 b) 5 - (c) 10 @ 25

6. Quo carseilar Somsgsaard N-§E A wHmbd B ol sammsd Tafld
A'U[(ANB)UB'] aTéLigy :
(1) B () A @~  (maA

Let A and B be subsets of the universal set N, the set of natural numbers. Then
A'U[(AnB)UB'] is :

(a) B (b) A () N (d) A

x+2, —1<x<3
7. fl)=45  x=3 ,x=3-& f(x eremugy :
8-x, x>3

. ()1
(@) AevLsa0 Quprg (F) -1

x+2, —1<x<3
If fix)=14 5, x=3 , then at x=3, f'(x) is :
8-x, x>3

@ o , (b) 1
'(c) does not exist (d -1
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8. tan90° -a wHny

(1) ? ()0 (@) 1 (F)

The value of tan90° is :

9. If'{xlcxz dx = (x - 1]ex2+ c erafled, flx) eramig) :

2

(1) B+4x2+6x+c ' (<) 2x3—%~+x+c
3 3
(8) %—x2+x+c (F) -J£2—+3x2+4x+c

If [fxle’ dx=(x=1)e* +c, then fid is :

2
(a) xP+4x24+6x+c (b) 2x3—%+x+c

3

(c) =2 —Ptx+c (d) %+3x2+4x+c

10. A wpmid B erenm G Hapidlaenés PA)=0.4, P(B)=0.8 wpmib P(B/A)=0.6 eraflé,
P(ANB) -an wdiuy :

(<) 0.56 (<) 0.96 (@) 0.66 (F) 0.24
If A and B are two events such that P(A)=0.4, P(B)=0.8 and P(B/A)=0.6, then
P(AnB) is :
(a) 0.56 | (b) 0.96 (c) 0.66 (d) 0.24
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11. sec(-0) erenug) :

(=) sech (<) coso (@) sec(-0) (rr) cos(—0)
sec(—0) is @
(a) secch (b) cosd ~ {c) sce(-0) (d) cos(-0)

iz' e psGaramsen Qream® openenieraniseien Hena QeugLiaer 3? + 4:;' - 4}::

N A

A Al M A "
wHOD 21 +3j +4k. @wwslsr @ epdulen Hewbesir i +2;) + 3k eafld,
epatpraug) apevars Yaraflfer Hlena GaudbL :

A A A A A A
(&) 2i - j +6k (@) —2i - j +9k
N N . M A
(8) —27 + ] +6k (F) -2% - -6k

M A A

A A A
Two vertices of a triangle have position vectors 3i +4j — 4k and 2i +3j + 4k.

' A A A
If the position vector of the centroid is i + 2] + 3k, then the position vector of
the third vertex is :

(&) 27 - +6k b) —27-7+9k
N A A ral
G R P (d) -2i-j-6k
x
13. [r"e2dx =

X X x
X X x X x x
(1) 2 CE = 8JC€_2— +16e2 + ¢ (<) x?e2 —4xe2 — 82 + ¢

X x X x X x
(@) x2?3__£5.i+ .ei+c (m) 2x%e2 - 8xe2 — 16e2 +c¢
2 4 - 8
*
ng e2 dx is
x x o x g2 . £ =
(@) 0x2e2 - 8xe2 + 16€2 +¢ (b_l x“e< —4xes —8e< +c
£ X ok x X x
(c) xgﬁ-_, £°£.|. ﬁ.,.c (d) 2x?e2 —8xe2 — 16e2 + ¢
2 4 8
A GREEN GARDEN MATRIC. HR. SEC. %C@M / Turn over

Perundurai R.S.
PH: 9486379461, 8344933377


user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377

user
Typewriter
XI - MAY 2022


m Xl - MAY 2022 -
14, c@Qgasub ehen aarsarss Qsramn. 5 Bess ereamseten GreTantiGas
(est) 5° (<2) 25 (©) 625 (m) S°

The number of 5 digit numbers all digits of which are odd is :

(a) 38° (b) 25 (c) 625 (d) 5°

- . - 1 \
15. X wpgd Y eremp Qm Hepeds@ss P(X/Y1=%, P(Y/XJ%’ PXAY)= g erefle

P(XLY) -e wlii :

()

win
ull b

(@) = (@) 5 @)

| 1 1
If X and Y be two events such that P(X/Y)= 5 P(Y/X)= 5 and P(XNY)= 5 then

P(XWY) i1s :

(d)

I |
WwIlN
U N

(b) (c)

1
(a) 5

16. 3x—y=—5 eranp Cani(Len 45° Garemd gPUBSSID CHTLigan sTe|SaET :

(@) 2, = () 1. -2

(=t) 1,% ()1, -1 2

The slope of the line which makes an angle 45° with the line 3x-y=-5

are :
1 i ] S |
7= 1, =1 2 d =, -2
(a) 1,7 (b) @ 2 @ 3
A GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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»

17, a anpmid 1 - A(RESNAS Laanismrak Waranr . @lenemtamin ABCD -em sorm,
Y 2 P
e i oa 4 b aedlé pAnmm apeomaiit L an BD gpeng

oy )
» »

b} a4 % () a1 @ Lt () b~ a

5 Sy —3
One of the diagonals of parallelogram ABCD with 4 and b as adjacent sides is

— —

—
8 + b. The other diagonal BD is :

-5 -
—t — — - =) -
(@8 a+b b a-b (c) a;b (d b-a
ipcx == e7+x
18. A= 1cz‘x ars3 | TOUE @M YRBWSE Carana Sjenfl eraflev, x-e iy
-
(1) 7 (<) 9 (@) 6 () 8
eX=2 o7tx )
The value of x, for which the matrix A = is singular :
e?+x e2x+3
(a) 7 (b) 9 () 6 (d) 8

4 Fat A

A A A
19. 10i +3j, 12i =5 wpmd ai + 11j Hdw Hlevew CQeusL isaflar ydraflser oGy

Camligd enmgmed ‘a’ ~er gl :
(24) 5 (<) 6 (@) 8 () 3

A A A A A A
If the points whose position vectors are 10i +3j, 12i —5j and ai + 11j are

collinear then ‘@’ is equal to :

(a) 5 b) 6 . (c) 8 (d) 3
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20, 1 3 715 : Iy
2 g Tg T T QAari wpenpulen n-yeug e -
. —n
(@l) 2-Nin—1 (%) . (@) on-1 (IT) 1-2
The nth term of the'sequence 1 3 Z E, o 18
2: 4’ 8’ 16 |
@ 27"+n-1 (@) 20-n-1 (g 20! @ 1-27°

@3 - I1/PART - II
&MLy : aemauCuenid 61@ Sl &M &8 (6156 e wafl&seyLd. aﬁ]surrr eramr 30 -&@
SLLmuwns el wallsseyL. 7x2=14

Note :  Answer any seven questions. Question No. 30 is compulsory.

- 21, [2x-17|=3 - x -5@ &iiey snaws.

Solve |2x—~17|=3 for x.

22. sin50°+sin20° -ew QUHESOTS (PSS,

Express sin50°+sin20° as a product.

23. cos135° -& WS HTETS.

Find the value of cos135°.

24, 5 g,rrasuru_lréw;émm@@ wenm &W@\Lb@l-lﬂ@; FgoUBL eleereysafien Quwrés
T EMEMILG TS

Find the total number of outcomes when 5 coins are tossed once.
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. n s nerenLgy) 1, 2 sevag 3
25u iy = .

-85 CsrarL Agriipeapsaild psd 4 2 gliLsoas &rams.
Write the first 4 terms of the sequences whose n'h' term a_ is given as.

e 5 n ifnigl. 2ors
H an_l +an._2 +an_3;ifn >3

26. (1, 1) womwd (-2, 3) eramp yaraflser afiCu Qedaéamiyu CrrEGaTLg 6
SLETUTL L& SIS

Find the equation of the lines passing through the points (1, 1) and (-2, 3).

0 sina cosa '
27. A=|sina 0 sin | erafled, |A|-g sraws.

cosa —sinfp O

0 sina cosa
" Find |A|if A=|sina 0  sinB|.
cose —sing O

A A A
28. 5i —3j + 4k -a1 flevs e 2 6er @f @ravg deusL s sreams.

s A

Find a unit vector along the direction of the vector 5i — 3 + 4k.

29. y=x3+5x2+3x+7 -8 x - QurBHF euanasudHa.
Differentiate y=x3+5x2+3x+7 with respect to x.

30. (x—~11)"-g, x -g Qursg QsTersUI{Hs.

Integrate (x—11)7 with respect to x.
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L@d) - 11/PART - III

i eram 40 -5

@My : amaGuand gy olarssEpse alowalssalld: off 7x3=21
SLLMULNS et wiaflé&sa)b.
Note :  Answer any seven questions. Question No. 40 is compulsory:
Lg;m‘rrél&ﬁﬂﬁh

31. samb A @pang A={x : x=4n+1, 2<n<5, neN} arafléd, A-em

aTaTaTNENEMIE SIS

Find the number of subsets of A if A={x: x=4n+1, 2=ns=5, ngN}.

32. uEd Yaemserrals Gfssab m

Resolve into partial fractions : o
(x+3) (x—4)

33. ACCESSIBILITY erenp eumigenguiler o aten erpsgisamarts LwatLRSS erdgemar
CeueuGeumpren cuflens WTHORIGMET 2 (HEUTESHTLD ?

Find the distinct permutations of the letters of the word ACCESSIBILITY.

34. (x+2)723 - x -an SIPEGEeTE dfleurssd Qelis,

Expand (x+2)~2/3 in powers of x.

35. Sx+12y-3=0 aemp Gamluyp@d (1, 2) aenp yearaldEn Qe Cu 2 drer Epn

SIS,
Find the distance from a point (1, 2) to the line 5x+ 12y—-3=0.
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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1 1 1

<

X
2 G = y-ate oo pys

1 1 1

Prove that |* %/ =(x-y)(y-2l(z- ).
5 § 2

A A Fa P N . . . =
37. 5i+3j+4k wHyLb 6i - 8-k dw QausLisErsE QeoriulL Corangmgs

& ITE0uT &,

A A

A A A A
Find the angle between the vectors 5i +3j+4k and 6i-8j-k

d ;
38. 2+y?=1 erafle, ﬁ SIS,

dy

= if x2+32=1.

Find

39. f'(9=4x-5 wHmw f(2)=1 erafle, flx) srawms.

If f(=4x-5 and f(2)=1, find f(x).

40. @@ usoLOW @M Wop 2BLOLEUTE em Qriellume adar doLssn
erafled 6 HenLLiugnsner Hlapsse) erenar ?

A die is rolled. If it shows an even number, then find the probability of getting 6.
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LGS - IV/PART - IV

&Py : siemangs) Aerméssensein elen_welldsay. 775=35

Note :  Answer all the questions.

41 (1) wésalsTms 5000 o drar g poTEHD PLEFILLL GO saTEEEEUID.
Qumf A Qﬁﬂfog;sufrass'ﬁ 45%, Gurfl B OQsflpgeuirsar 25%, Quomip
C Qsfipsauisdr 10%, A wigd B Qunsd Gsfpseisd 5%
B wpmid C Qumflaer Qglpseutadr 4%, A wimib C Qumfser Agfbgersar
4% ©. @ epay Qurfsmaryd Asfpsaiser 3% eraild, Qumyl
A LLHL Asfbgseurser arssman Guir ?

3|06V

. 2x + 4
LHIBHS : |[——d
() 05040 Ix2+4x+6 g

(a) In a survey of 5000 persons in a town, it was found that 45% of the persons
know language A, 25% know language B, 10% know language C, 5% know
languages A and B, 4% know languages B and C and 4% know languages A
and C. If 3% of the persons know all the three languages, find the number of
persons who knows only language A.

OR

(b) Evaluate : j——f—%—idx

X +4x+6

cot(180°+6) sin(90°—6) cos(—0) 2
42. (1) S ) - = cos“f cotb
sin(270° +6) tan(-6) cosec(360°+0)
TNV

(<) wﬁﬂlﬁ?@&s : Jx'cosx dx

cot(180° +0) sin(90°—08) cos(—6)

= cos?0 coth
sin(270°+6) tan(—6) cosec(360° +6)

(a) Prove that :

OR

(b) Evaluate : [x cosx dx
GREEN GARDEN MATRIC. HR. SEC. SCHOOL
A Perundurai R.S.
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43. (&) sanllsg Qen@ssdad wpapuid n>1 -5
1))
134234334 4nd= [n([—;—l] arar By is.
S|V
__h ) . dy .
(<) x=a(t-sint), y=a(l-cost) erafle, e PR

(a) By the principle of mathematical induction, prove that, for n>1
oxa
P4+224354.. 4 (2]
2
OR

.. dy |
(b) Find a%, if x=a(t-sint), y=a(l —cost).

44. (1) 12x2+2kxy+2y?+11x-5y+2=0 erarn FoemUTH @rlenL Cpré&Gamiigar
| FoaUN L s Ghssrad k -6 wHlliemus Srems.

SI6V608)

(<) lim tan2x

: -a WL GrenTs.
x—0 sindx Q H

(a) For what value of k does the equation 12x2+2kxy+2y2+11x-5y+2=0
represent two straight lines. .

OR
 tan2x GREEN GARDEN MATRIC. HR. SEC. SCHOOL
(b) Evaluate : iﬂ% Sinbx Perundurai R.S.
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45.

46.

| 2 ) ;
2be-a ¢? b’ a b (,"-

(ey) c? 2ca -~ b2 a° = b ¢ a earfimas
> : -
b a® Jab-c?| fe a b
VG

fSJ,

o (5 32
(<) 102{&; 210gL9)+10g(243J log2 eren Hlmeys.

2bc-a? c2 b2 a b 02
(a) Show that c? 2ca—b? a2 =b c a
b2 a> 2ab-c? ¢ ab

OR

75 S 32
Prove that log| — [-2log| = |+1 [—J=1 a.
(bl Prove that log[ 7> og| 2 +10g[ 22 |- 10g

A A A N

; A A A A A . L.
(=) 2i +4j+3k, 4i+j+9k, 10i-j+6k eearp CeusLismer Hee

CaugLrsarmas Qaram_ Leallser @ temGaran psCaramsams iensELD
eren Himieys.

LAV
(<) UL srems (i) cosls® (ii) tan165°,

A A A

(a) Prove that the points whose position vectors 21 +4 j+ 3k, 4? + 3 + 9}3 and

N

A N
10i - j+ 6k form a right angled triangle.

OR

(b) Find the values of (i) cos15° and (ii) tan165°.
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7. (=) @85 Qm grysale, @anmdo 6 UL wpmib 4 feuliy Hmd LIB&I&ET 2-61.r.
wHEDTH g uled 2 sl whmb 2 Hauti] HipLs LpIsET o_draren. FLOAIMICL
Gpopled @ gy CarpQpRssliul® <fdmbs @0 UbS,
aTRssLUHEng.

(1) Swoupg smuuns Qouusharear Hepssmed srams.

() e@ésuuie  upgy -smoy  aald  wsd wrRUA®HS
ThssLULL gharar Hepssey wrg ?
VG|
(<) V3x ~Yy+4=0 aap Cere & CemiEsg agasdnE LTHDIS.

(a) There are two identical urns containing respectively 6 black and 4 red balls,
2 black and 2 red balls. An urn is chosen at random and a ball is drawn from
it. (i) find the probability that the ball is black (i) if the ball is black, what is
the probability that it is from the first urn ?

OR

(b) Rewrite v3x— y+4=0 into normal form.

-00o0-
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